000000000 NnNOJaved MOOO0O0OO0OO (100 20 120)

gooo od DDD

l. 0 5x20

i) | HashMap<String,Long>

0. |extends Creature
201 0 0 publicl] privatell [ [ []

w00 00 JO0000 0 0000
oo o000 dnod oobooo 00000
00 000 00000 4 o000
0o 00 00000 00000
D0 0000000 Jo0oo 20000
oogoQg 00000 4 0000
0o 00 00000 00000
00000 Joooo 40000
oo 0400 00000 40000

II. 0 5x30

0. |extends JApplet implements Runnable

i. |(new KeyListener ()

int 1n = text.length() ;

if (1n>20) {

(ii). text = text.substring(ln-20); |

DDDDDD}
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2行目の publicを privateに変える
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extends JApplet implements Runnable

kagawa
テキストボックス
new KeyListener()
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int ln = text.length();
if (ln>20) {
   text = text.substring(ln-20);
}
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解答例




